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QUESTION 1

Click the Exhibit button. 

Based on the exhibit, what do you expect to find in the configuration on R1 and R4? 

A. a policy leaking level 1 routes into level 2 

B. a policy leaking level 2 routes into level 1 C. a policy setting the attached bit on level 2 routes 

D. a policy setting the attached bit on level 1 routes 

Correct Answer: B 

 

QUESTION 2
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You have configured an IS-IS adjacency between routers R1 and R2. However, the adjacency is not coming up.
Referring to the exhibit, what appears to be the problem? 

A. The R2 interface is down. 

B. The ge-1/1/2.0 interface has IS-IS level 2 disabled. 

C. The ge-1/1/2.0 interface does not have family iso configured. 

D. The ge-1/1/2.0 interface has IS-IS level 1 disabled. 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 
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In the exhibit, network 172.16.0.0/16 is redistributed into IS-IS in Area 49.0002. R1 must use R2 to access
172.16.0.0/16. All other traffic leaving Area 49.0001 must use R4.Which three steps will accomplish this task? (Choose
three.) 

A. Configure R1 to ignore the attached bit. 

B. Disable the attached bit on R4 in Area 49.0001. 

C. Enable an L2 adjacency on the link between R1 and R2. 

D. Leak network 172.16.0.0/16 into L1 on R2. 

E. Redistribute a static default route into L1 on R4. 

Correct Answer: ACD 

 

QUESTION 4

Click the Exhibit button. 
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Router A: Local Pref 110, IGP Cost 1000 Router B: Local Pref 100, IGP Cost 200 Router C: Local Pref 110, IGP Cost
900 Router D: Local Pref 100, IGP Cost 1000 Through which link will traffic to the Web server leave your network (AS
65000) from the customer router? 

You are the administrator of AS 65000. There are four links between your network (AS 65000) and your upstream
provider (AS 65001). You have an import policy on all of your routers. The routing table on the customer router has four
routes to the Web server as follows: 

A. Router A 

B. Router B 

C. Router C 

D. Router D 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit button. 
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You are asked to configure an OSPF network based on the topology shown in the exhibit. Area 1 must not receive Type
5 LSAs from the backbone, but must be capable of containing ASBRs. What will accomplish this? 

A. Area 1 should be configured as a stub area, which by default meets the network\\'s requirements. 

B. R3 should be configured with no-externals for Area 1, which will suppress Type 5 announcements. 

C. R3 should be configured with no-summaries for Area 1, which will suppress Type 5 announcements. 

D. Area 1 should be configured as an NSSA, which by default meets the network\\'s requirements. 

Correct Answer: D 
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